















































































































Q distributed49dm 8Kulm x 1.2m 9.6KN
Y

If
LinkAB is tobemade of

8kNlm a steel for whish the
ultimate normal stress is

gtftp.asomta
area for AB for which theÉ
350

Assume that the link will be adequately reinforced
around the pins at A and B

20km o.am
FABFABsin3tpIq.gknfMp9GKN.O2m

FaBsin35 0.8 ftp.JEtEO

FAR 21.62 KN 21620N
Nimm2

Call II 453.112 128.6 Mpa

fall tap AAB

128.6
2

1 AaB 168.12
168 I mm
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